Efficiency vs P,

+0.05
o

8 04BE- -+ eieee e SR R
> E :
2 0.04F---rererireeneaes PORPPTP R PR
) o :
.035f e i RS R
7] o :
0.03:— ---------------------- P
0.025F-+++ereesriveseensens T
0.02F e+ oo SRR | O SR
0.0LBf++oererierneeenes ST | S
0.01F -+ TR 00T 1 S
0.005F el
o 1.0 dbab ...! L
T
nd
1_— --------------- + At -k B = SRR

o
©
a

=
o
iN

1 10

. Gedf’

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

=0.01
[
2.009
(8]
9.008
5}
£.007
()
0.006
0.005
0.004
0.003
0.002
0.001
.0

.........

.................

.................

..........................

Ratio
N
!IIII TTT1

0.95

Efficiency vs ¢

o 0.01
[
2.009
(8]
9.008
o
.007f;
5] i
0.006f
0.005
0.004f;
0.003ff
0.002
0.001

=

Rk

Rk

1.0

Ratio

PRSI

*




	Contents
	Page 1


